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No K4 H B &k RE FE
1 SRAEE R EE 173 98 4
2 EAREM R 162 93 2
3 RO 1R L 173 108 4
4 == in 1R 178 91 4
5 EBEEL REARTE 178 93 4
6 9043 INE 172 87 4
7 FHEREER FHRELE 170 83 2
8 eSS 250) Rk 175 84 2
9 FHA% K& 168 60 1
AREEZ Rz 171 77 4
11 HFRKE RIBFE 176 83 4
12 HFKH Rk 170 71 3
13 £ A RAEHA 173 73 4
14 Bz EHIE 176 92 2
15 Mt = 170 82 2
16 =i R EE 168 97 4
17 78 ILE R A REEEE 180 105 3
18 SN BRI % 170 98 4
19 EARRE HE 173 83 4
20 = HR A REEEE 180 84 1
21 =T Auckland Grammer 170 76 4
22 FHETF BRI % 184 91 2
23 REAK FE 165 74 3




